
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
Asennus ja käyttöohje 

Installation- och bruksanvisning 
Instructions for installation and use 

Installations- und Gebrauchsanweisung 
$G>>6>4EF6> ?> M>E??G4F4F<< < <>=F46G 

Instructions d9installation et d9utilisation 
Instrucciones de uso e instalación 

Instrukcja u}ytkowania oraz monta}u 
Istruzioni per l'uso e l'installazione 

Návod k instalaci a pou�ití 
�··³¯·Ã ÇÃ¯Ã·Ã »³» ·³»³Ç¯ÃÇ³Ã·Ã ÇË¿ 

 
 
 

          7014077 
     314 SKLA 50 R 

 

Magma 

Skla 

 

 

          

ME95  

Sähkökiuas:   MAGMA ja SKLA 
Elaggregat för bastu:  MAGMA och SKLA 
Electric sauna heater:  MAGMA and SKLA 
Elektrisches Saunaheizgerät:  MAGMA und SKLA 

   -?5>FD>>4<5=>4:  MAGMA < SKLA 
Sauna Électrique: MAGMA et SKLA  
Calentador de sauna: MAGMA et SKLA 
Elektryczny piec do sauny: MAGMA et SKLA 
Riscaldatore elettrico per sauna: MAGMA e SKLA 
Elektrické saunové topidlo: MAGMA y SKLA 
�·Ã¿³¿Ç·Ã³Ã Ã³¿Ç¿³Ã: MAGMA »³» SKLA 

REWARD YOURSELF  



 

 

 

 

 

 
-���&$�������� ��/ %�'�/ 

1101 3 181 
1101 -  210       400V 3N~ 
1101 -  262    

�'�,& '�$������/ + ���&��&�$��/ ��$����  

1418-22-1517-3                       +                2005-1 
1418-22-1517                          +                2005-1 
 

-���&$�������� ��/ %�'�/ 

1101 3 181 
1101 -  210       400V 3N~ 
1101 -  260    

�'�,& '�$������/ + ���&��&�$��/ ��$����   

1601-12                                  +                2005-5 
1601-13                                    +                2005-5 
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�5D54 GEF4=>6>>= < <E?>?L7>64=<5< M?5>FD>>4<5=>< 4?O E4G=O =5>5E>4<<> ?D>65D<FL: 
 

" '554<F5EL, GF> G �4E 5EFL 6E5 =5>5E>4<<>5 >5>DG4>64=<5 4 M?5>FD>>4<5=>4, ?G?LF G?D46?5=<O, 44FG<> F5<?5D4FGDO 
(?G?LF G?D46?5=<O 6<5EF5 E 44FG<>>< F5<?5D4FGDO =5 6E>4<F 6 >><??5>F ?>EF46>< M?5>FD>>4<5=><). 

" '554<F5EL, GF> M?5>FD>>4<5=>4 < ?G?LF G?D46?5=<O ?>4E>4OF 4?O �4L5= M?5>FD>E5F< (=4?DO65=<5 < D47=>EFL 
M?5>FD>>4<5=>< E>>F65FEF6GNF E4D4>F5D<EF<>4< M?5>FD>E5F<) < GF> ?G?LF G?D46?5=<O E>6<5EF<< E  M?5>FD>>4<5=>>=. 

" '554<F5EL, GF> <>M=>EFL M?5>FD>>4<5=>< E>>F65FEF6G5F >5N5<G E4G=O. �5>5E>4<<> 6E5744 ?D<45D6<64FLEO 7=4G5=<=, 
?D<6545==OE 6 F45?<F5 1. 

" �7=4>><LF5EL E D5>><5=4>64==O<< D47<5D4<< 4?O GEF4=>6>< M?5>FD>>4<5=><, ?D<6545==O<< =4 D<EG=>5 1. �5>5E>4<<> 
?D<45D6<64FLEO G>474==OE 7=4G5=<=. �N5O5 >F>?>=5=<O <>7GF EF4FL ?D<G<=>= >?4E=>EF< 6>7=<>=>65=<O ?>64D4. 

" &M4F5?L=> ?D>GF<F5 44==GN <=EFDG>F<N. 
" �5D54 F5<, >4> ?>?4D<FLEO 6 E4G=5, G554<F5EL, GF> E4G=4 7>F>64 > <E?>?L7>64=<N. 

 
�N4O< E =4DGL5==O<< D<7<G5E><<< <?< ?E<E<G5E><<< E?>E>5=>EFO<<, <<5NM<< E5=E>D=O5 =4DGL5=<O, 4 F4>65 E 
=55>?LL<< >?OF>< < 7=4=<O<< > F><, >4> D45>F45F >5>DG4>64=<5 E4G=O (=4?D<<5D, 45FO<) D5>><5=4G5FEO ?>?L7>64FLEO 
E4G=>= ?>4 ?D<E<>FD>< <?< 6 E>>F65FEF6<< E <=EFDG>F<O<<, 44==O<< ?<F><, >F65G4NM<< 74 <E 557>?4E=>EFL. 
%?54<F5, GF>5O 45F< =5 <7D4?< E M?5>FD>>4<5=>>=. 

 

 

 
7014102             314 SKLA 56 D 

 

�=EFDG>F<O ?> M>E??G4F4F<< < <>=F46G MAGMA < SKLA 

REWARD YOURSELF  

  SKLA MAGMA 



 

 
�/��$ ��-��%&� -���&$�������� ��/ %�'�/ 
�4> G>474=> 6 F45?<F5 =<65, <>M=>EFL M?5>FD>>4<5=>< 4?O E4G=O >?D545?O5FEO 6 E>>F65FEF6<< E >5N5<>< 
?><5M5=<O E4G=O. �=4G5=<O 6 F45?<F5 ?D<6545=O 4?O E4G= E E>D>L5= F5??><7>?OF<5=. �E?< EF5=O E4G=O 557 
F5??><7>?OF<<, =4?D<<5D, >5?<F>64==O5 ??<F>>= <?< ><D?<G>< <?< <<5NF ?>65DE=>EFL, ?>7?>M4NMGN F5??> 4 =4 
>464O= 1 <2 F4><E ?>65DE=>EF5= =5>5E>4<<> 4>546<FL <>M=>EFL M?5>FD>>4<5=>< F4>, >4> 5G4F> >5N5< E4G=O 
G65?<G<?EO =4 1,2 <3. � MF>< E?GG45 <>M=>EFL M?5>FD>>4<5=>< 4?O E4G=O >?D545?O5FEO <EE>4O <7 >5M57> >5N5<4 E 
GG5F>< ?>?D46>>. �5D56O==O5 EF5=O E4G=O F4>65 =5>5E>4<<> F5??><7>?<D>64FL. 
 
'%&������ -���&$��������  
�4==4O <>45?L M?5>FD>>4<5=>< 4?O E4G=O <<55F =4?>?L=GN GEF4=>6>G < >D5?<FEO > ?>?G 46G<O 5>?F4<< E> 
L?<?L>4<< G5D57 465 =>6>< M?5>FD>>4<5=><. 
�D< D<>E4F<< M?5>FD>>4<5=>< =5>5E>4<<> GG<FO64FL <<=<<4?L=> 4>?GEF<<>5 D4EEF>O=<5 <564G M?5>FD>>4<5=>>= < 
?57>>6>E??4<5=ONM<<<EO ?>65DE=>EFO<<, >4> G>474=> =4 <4D><D>6>G=>= F45?<G>5 M?5>FD>>4<5=><. -?5>FD>>4<5=>G 
<>6=> GEF4=46?<64FL =4 45D56O==O= ?>?. %F5=O 74 M?5>FD>>4<5=>>= < ?>F>?>> =5?L7O >5>?44O64FL, =4?D<<5D, 
D<5D>55F>==O<< ?4=5?O<<, F4> >4> >=< <>7GF 7=4G<F5?L=> G65?<G<FL F5<?5D4FGDG <4F5D<4?4 EF5=. -?5>FD>>4<5=>G 
4?O E4G=O =5?L7O D47<5M4FL 6 =<L5 <?< >5>?44O64FL G5< 5O F> =< 5O?>. �5>5E>4<<> <75574FL E>6>7=O>>6 <7 ?>4 
465D< < 65=F<?OF<>==OE >4=4?>6, F.>. >=< <>7GF =4DGL<FL D45>FG F5D<>EF4F4 (E<>FD<F5 D4745? �5=F<?OF<O) 
 
��-�&��� ��$������� 
�E?< 6 E4G=5 GEF4=46?<645FEO 74M<F=>5 >7D4645=<5, =5>5E>4<<> E>5?N44FL <<=<<4?L=> 4>?GEF<<O5 D4EEF>O=<O 
<564G =<< < M?5>FD>>4<5=>>=, >4> G>474=> 6 F45?<F5 1. �4M<F=>5 >7D4645=<5 =5 4>?6=> 5OFL 74>DOFO< < =5 4>?6=> 
6?<OFL =4 >>=65>F<N 6>74GE4 G5D57 M?5>FD>>4<5=>G.  
 
'%&������ �'�,&� '�$������/ 
�G?LF G?D46?5=<O GEF4=46?<645FEO 6=5 ?><5M5=<O E4G=O 6 EGE>< <5EF5. �4FG<> >D5?<FEO =4 EF5=5 E4G=O, >4> 
?>>474=> =4 D<EG=>5 1. �N5O5 >F>?>=5=<O >F D5>><5=4>64==>7> <5EF>D4E?>?>65=<O 6O7O64NF >?4E=>EFL 
6>7=<>=>65=<O ?>64D4.  
 
-���&$����&�� 
&>?L>> >64?<D<F<D>64==O= M?5>FD<> <>65F 6O?>?=OFL D45>FO ?> M?5>FD<G5E>><G <>=F46G M?5>FD>>4<5=>< < ?G?LF4 
G?D46?5=<O, >>F>DO= 4>?65= 5OFL 6O?>?=5= 6 E>>F65FEF6<< E <5EF=O<< =>D<4<< < FD55>64=<O<<. �5>5E>4<<O5 
4<47D4<<O ?>4>?NG5=<O =4E>4OFEO 6=GFD< M?5>FD>>4<5=>< <  ?G?LF4 G?D46?5=<O, 4 F4>65 6 >>=F5 <=EFDG>F<< ?> 
M>E??G4F4F<< < <>=F46G >5>DG4>64=<O. -?5>FD>>4<5=>4 4?O E4G=O 4>?6=4 5OFL ?>4>?NG5=4 > M?5>FD>?<F4=<N 
?>?G?>EF>O==O< E>54<=5=<5< >455?5< E D57<=>6>= <7>?OF<5= 4?O ED54=<E <?< <=F5=E<6=OE D56<<>6 D45>FO 
H07RN-F (60245 IEC 66), E<. F45?<FG 1. 
 
'%&������ �'�,&� '�$������/ � ��&'��� &����$�&'$/ 
�G?LF G?D46?5=<O ?>4>?NG45FEO E ?><>MLN 6E>4OM57> 6 ?>EF46>G >455?O > >>=F4>F>D=>= >>D>5>5. �G?LF G?D46?5=<O 
4>?65= GEF4=46?<64FLEO E=4DG6< ?4D=>=. 'F>G=<F5 <5EF>D4E?>?>65=<5 ?G?LF4 G?D46?5=<O 6 <=EFDG>F<<, 6E>4OM5= 6 
>><??5>F > ?G?LFG G?D46?5=<O.  
�4FG<> D47<5M45FEO =4 EF5=5, =4 >E56>= ?<=<< M?5>FD>>4<5=>< 6 E>>F65FEF6<< E D4EEF>O=<O<<, G>474==O<< =4 
D<EG=>5 1. �4FG<> >5>DG4>64= ?OF<<5FD>6O< F5D<>EF>=><< (D4EEG<F4==O< =4 F5<?5D4FGDG 4> 170°C) >455?5< 
4×0,25 <<2, >>F>DO= <>6=> G4?<=<FL >5OG=O< E?45>F>G=O< ?D>6>4>< (F4>>7> 65 E5G5=<O). �EFD>5==O= 6 44FG<> 
F5<?5D4FGDO ?D54>ED4=<F5?L >F>?NG45F M?5>FD>>4<5=>G 6 E?GG45, 5E?< F5<?5D4FGD4 ?D56OL45F >?D545?5==>7> 
7=4G5=<O, >D<F<G=>7> 4?O ?>64D>557>?4E=>EF<. �4> F>?L>> F5<?5D4FGD4  >?GEF<?4EL =<65 MF>7> 7=4G5=<O, 
?D54>ED4=<F5?L <>6=> 65D=GFL 6 >5OG=>5 E>EF>O=<5 =464F<5< =4 >=>?>G reset.  
�5D54 F5<, >4> =464FL =4 MFG >=>?>G, 6OOE=<F5 < GEFD4=<F5 ?D<G<=G ED454FO64=<O ?D54>ED4=<F5?O!  
 

Restore

Sensor 

 
 
 
�$���'����. �?O ?>4>?NG5=<O M?5>FD>>4<5=>< =5?L7O <E?>?L7>64FL >455?< E <7>?OF<5= <7 ?>?<6<=<?E?>D<44, 
>>F>DO= >F 6>745=EF6<O F5<?5D4FGDO EF4=>6<FEO EDG?><<. 
%>54<=<F5?L=4O >>D>5>4 4>?6=4 5OFL 5DO77>74M<M5==>= < 6 =5= 4>?6=> 5OFL 4D5=46=>5 GEFD>=EF6>. �OE>F4 
D47<5M5=<O E>54<=<F5?L=>= >>D>5>< >F=>E<F5?L=> ?>?4 =5 4>?6=4 ?D56OL4FL 500 <<. �E?< >455?< 
?D>>?44O64NFEO ?> EF5=5 <?< 6=GFD< EF5=O E4G=O 6OL5 1000 << >F ?>?4, >=< 4>?6=O 5OFL F5D<>EF>=><<< > 
F5<?5D4FGD5 4> 170°C (=4?D<<5D, F<? SSJ). 
 
-?5>FD<G5E><5 GEFD>=EF64, GEF4=46?<645<O5 6OL5 1000 << >F ?>?4 E4G=O, 4>?6=O 5OFL >4>5D5=O 4?O ?D<<5=5=<O  
?D< F5<?5D4FGD5 6OL5 125°C (<<5FL <4D><D>6>G «T 125»). 
 
 
 
 
 

�=EFDG>F<O ?> M>E??G4F4F<< < <>=F46G MAGMA < SKLA 2 

reset 

44FG<> 

>=>?>4 reset 



 

 
����� ��/ -���&$��������  
 
�4G5EF65==O5 >4<=< E>>F65FEF6GNF E?54GNM<< FD55>64=<O<: 
 

-     �4<=< 4?O E4G=O 4>?6=O 6O45D6<64FL =47D56 < <7<5=5=<O F5<?5D4FGDO ?D< <E?4D5=<< 6>4O, =4?<645<>= =4  =<E. 
-     �5D54 <E?>?L7>64=<5< 6 E4G=5 >4<=< 4>?6=O 5OFL E>D>L> ?D><OFO, GF>5O =5 5O?> 74?4E4 < ?O?<. 
-     ' >4<=5= 4?O E4G=O 4>?6=4 5OFL =5D>6=4O ?>65DE=>EFL, GF>5O ??>M44L <E?4D5=<O 6>4O 5O?4 >4> <>6=> 5>?LL5. 
-     �4<=< 4?O E4G=O 4>?6=O 5OFL 4>EF4F>G=> 5>?LL<<< (4?O 5>?LL<E M?5>FD>>4<5=>> ?D<5?<7<F5?L=> 803120 <<),       
      GF>5O <564G >4<=O<< ?57>> ?D>E>4<? 6>74GE. -F> ?D>4?5645F ED>> E?G65O  
      =47D564F5?L=OE  M?5<5=F>6.  
-     �4<=< E?54G5F G>?44O64FL E 747>D4<<, GF>5O GE<?<FL 65=F<?OF<N <564G =<<<.  
      %?54<F5, GF>5O =47D564F5?L=O5 M?5<5=FO =5 E>?D<>4E4?<EL 4DG7 E 4DG7>< <?< E  
      >>D?GE>< M?5>FD>>4<5=><. �5 E7<54=F5  =47D564F5?L=O5 M?5<5=FO.  
-     $57G?OD=> ?5D5>?44O64=F5 >4<=< (E>FO 5O D47 6 7>4) < 74<5=O=F5 <4?5=L><5 <  
      D4E>>?>6L<5EO >4<=< =>6O<<,  5>?55 >DG?=O<<. 
- $57G?OD=>, ?> >D4==5= <5D5 >4<= D47 6 7>4 ?D< G4EF=>< <E?>?L7>64=<<, >?>D>6=O=F5 

>FE5> 4?O >4<=5=, G44?O=F5 
<5?><5 < E?><4==O5 >4<=< < 74<5=O=F5 <E =>6O<<. 

- �D< >><<5DG5E>>< <E?>?L7>64=<< MF4 >?5D4F<O 4>?6=4 6O?>?=OFLEO =5 D565 >4=>7> 
D474 6 464 <5EOF4. 

- �4<=< =G6=> G>?44O64FL F4>, GF>5O >=< ?>>DO64?< =47D564NM<5 M?5<5=FO. �4=4>> =5 >?44<F5 5>?LL>5    
>>?<G5EF6> >4<=5= =4 =47D564F5?L=O5 M?5<5=FO. �4>E<<4?L=4O 6<5EF<<>EFL >FE5>4 M?5>FD>>4<5=>< 4 >>>?> 80 >7 
>4<=5=. 

-     �4?5=L><5 >4<=<, 4465 5E?< >=< 6>?NG5=O 6 ?>EF46>G, =5?L7O G>?44O64FL 6 M?5>FD>>4<5=>G, F4> >4> >=< <>7GF  
?D>64?<FLEO 6=GFDL M?5>FD>>4<5=>< G5D57 65DF<>4?L=O5 ??4EF<=O. 

-     �4D4=F<O =4 M?5>FD>>4<5=>G =5 45=EF6<F5?L=4 4?O 45D5>F>6, 6>7=<>L<E 6 D57G?LF4F5 ??>E>= 65=F<?OF<<,      
      6O764==>= <E?>?L7>64=<5< <5?><E >4<=5=, 4 F4>65 GD57<5D=> ??>F=>= G>?44>>= >4<=5=. 
-     �5 4>?GE>45FEO <E?>?L7>64=<5  F4?L>>6O= >4<5=L, MF> <>65F ?D<65EF< > F4><< ?>6D5645=<O<  M?5>FD>>4<5=><, =4     
      >>F>DO5 =5 D4E?D>EFD4=O5FEO 74D4=F<O ?D><76>4<F5?O 
-     �5 <E?>?L7G=F5 6 >4<=5= 4?O E4G=O F4?L>>6O= >4<5=L. �4D4=F<5= =4 ??<FG =5 ?>>DO64NFEO ?N5O5 ?>6D5645=<O,  
      ?>?GG5==O5 6 D57G?LF4F5 57> <E?>?L7>64=<O. 
-     ���$�-��&%/ �%���,����&, ���$���&��, ��� ������! 

$��������&�� �� ���&��/&�� ����-���/ %�'�/ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1. �><5M5=<5 E4G=O 3. -?5>FD>>4<5=>4  5. �>74GE>>F6>4OM4O FDG54 <?< >>D>5 
2. �GL564O  4. �O?GE>=>= >?4?4=  6. �65DL 6 ?><5M5=<5 E4G=O 
7. �45EL <>6=> GEF4=>6<FL 65=F<?OF<>==O= >?4?4=, >>F>DO= <>6=> 74>DO64FL 6> 6D5<O =47D564 E4G=O < 55 
<E?>?L7>64=<O. 
 
�D<F>G=O= 65=F<?OF>D <>6=> D4E?>?>6<FL 6 7>=5 A. '554<F5EL, GF> ?D<F>> E65657> 6>74GE4 =5 5G45F 6?<OFL =4 
D45>FG 44FG<>4 F5<?5D4FGDO M?5>FD>>4<5=>< G ?>F>?>4 (F.5. =5 >E?46445F 57>). 
 
�E?< 6 E4G=5 <E?>?L7G5FEO 5EF5EF65==4O 65=F<?OF<O, ?>F>> E65657> 6>74GE4 4>?65= ?>EFG?4FL 6 7>=G �. � MF>< 
E?GG45 6O?GE>=>= >?4?4= 4>?65= 5OFL GEF4=>6?5=, <<=<<G<, =4 1 < 6OL5, G5< 6?GE>=>= >?4?4=. 
 
�� '%&���������&� ��'%���� ������ ��'&$� ���/ %, �%�� � -&�� ���� '%&������� ��&'�� 
&����$�&'$/ -���&$��������. 
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'EF4=>6>4 44FG<>4 65?<7< >F65DEF<= ?D<F>G=>= 65=F<?OF<< 
 

�>74GE E4G=O 4>?65= 5OFL 74<5=OFLEO L5EFL D47 6 G4E. &DG54 4?O  
?D<F>>4 6>74GE4 4>?6=4 <<5FL 4<4<5FD >F 50 4> 100 <<. 
 
�F65DEF<5 ?D<F>G=>= 65=F<?OF<< >DG7?>7> (360°) E5G5=<O  4>?6=>  
=4E>4<FLEO =4 D4EEF>O=<< =5  
<5=55 1000 << >F 44FG<>4. 
 
�F65DEF<5 ?D<F>G=>= 65=F<?OF<< E ?4=5?LN, =4?D46?ONM5= 6>74GL=O=  
?>F>> (180°), 4>?6=> =4E>4<FLEO =4 D4EEF>O=<< =5 <5=55 500 << >F  
44FG<>4. �>74GL=O= ?>F>> 4>?65= 5OFL =4?D46?5= 6 EF>D>=G >F 44FG<>4. 
 
 

 
'%&������ �$� �%���,������� �'�,&� '�$������/ � ���&��&�$��� ��$���� 

  1418-22-1517-3    +    2005-1 
1418-22-1517       +    2005-1 
1418-22-1519       +    2005-1 

&45?<F4 1.  

-���&$�������� %�'�� �������,�/� 
$�%%&�/��/ 

>F M?5>FD>>4<5=>< 

������ 

�D54>ED4=<F
5?L �>45?L �>M=

>EFL 
�>M=>EFL 

7DG?? 
�5N5< 
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min 

 
 
 
 

max 

 
 
 
 

 
 

H 
min 

 
 
 

�DG??4 
I 

�DG??4 
II 

�DG??
4 I 

�DG?
?4 II 

>�F >�F >�F <3 <3 E< E< E< E< E< <<2 <<2 <<2 A A 
1101-181 18 9 9 18 30 210 14 140 16 16 4 × 0,25 5 × 2,5 5 × 2,5 16 16 
1101-210 21 9 12 24 36 210 14 140 16 16 4 × 0,25 5 × 2,5 5 × 4 16 20 
1101-262 26 10.5 15.5 30 46 220 14 150 16 16 4 × 0,25 5 × 2,5 5 × 6 16 25 

 
$47<5DO 6 <<. 

H min
min 

D

min 100

C  (X

F min

max
500

min 
A

7 5
6

4

3
2

1a
1b

40 mm

 

 

 

$<EG=>> 1 
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�DG??4 
I 

�DG??4 
II 

�DG??
4 I 

�DG?
?4 II 

>�F >�F >�F <3 <3 E< E< E< E< E< <<2 <<2 <<2 A A 
1101-181 18 9 9 18 30 210 14 140 16 16 4 × 0,25 5 × 2,5 5 × 2,5 16 16 
1101-210 21 9 12 24 36 210 14 140 16 16 4 × 0,25 5 × 2,5 5 × 4 16 20 
1101-260 26 13 13 30 46 220 14 150 16 16 4 × 0,25 5 × 6 5 × 6 25 25 
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�=EFDG>F<O ?> M>E??G4F4F<< < <>=F46G MAGMA < SKLA 6 

400V 3N~

 
 
                                                                    SEPC 12       SEPC 11          SEPC 59       
                            kW          kW       kW         1,5kW             2,0kW              2,6kW         
 
1101-181          18,0        9,0         9,0        1,     12        
1101-210          21,0        9,0        12,0    1,3,5,7,9,11   2,4,6,8,10,12       
1101-262          26,0       10,5       15,5        3,7,11            1,5,9           2,4,6,8,10,12        

1       2       3       4       5       6        7       8       9      10     11     12
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      �·Ã¿³¿Ç¯Ã³Ã �¯Ã¿·¿Ã  £Ç³»ÃÏÇ·¿³ »ÃÇÏ¿Ã          �·Ã¿³¿Ç»»¯ ÃÇ¿»Ç·¯³      

Kiuas                Teho         Ryhmäteho               Lämpövastukset      
Ugn                 E?ekt        Gruppe?ekt               Värmeelement             230V       
Heater                Input         Group of power              Heating elements 
Ofen                Leistung   Gruppe der leistung       Heizelemente   
Keris                  Vöimsus   Rühmavöimsus              Tennid,  Elementy grzewcze
Chau?e-sauna  Puissance Groupe der puissance   Éléments chau?ants
Calentador        Entrada     Grupo de potencia         Resistencias, 
Piec do sauny   Moc           Moc Grupowa                Elementy grzewcze
Topildo             Vstup       Skupina síly                  Topný prvek          
Riscaldatore        Ingresso     Fasi                                  Elemento riscaldante

           
-?5>FD>>4<5=>< 6?4EFL �DG??4 6?4EF< &-�O

 �65D=>= 6O>?NG4F5?L 
 

�>4 465D=O< 6O>?NG4F5?5< ?>4D47G<5645FEO 
6O>?NG4F5?L =4 465D< E4G=O. -F>F 6O>?NG4F5?L  
E>>F65FEF6G5F FD55>64=<O<, <7?>65==O< 6 D4745?5 
22.100 EF4=44DF4 EN 60335 2-53.  
�5M5EF65==O5 < G4EF=O5 E4G=O, 6 >>F>DOE 
=47D564F5?L <>6=> 6>?NG4FL E=4DG6< E4G=O <?< E  
?><>MLN F4=<5D4, 4>?6=O 5OFL >E=4M5=O 465D=O< 
6O>?NG4F5?5<. 
Helo �4=5?< G?D46?5=<O < �>=F4>F>D=4O >>D>5>4 <>7GF 
5OFL >E=4M5=O 444?F5D>< 465D=>7>  
6O>?NG4F5?O Helo DSA 1601 3 35 (RA 3 35) (=><5D ?> 
>4F4?>7G 001017) <?< 444?F5D>< 465D=>7>  
6O>?NG4F5?O Helo (=><5D ?> >4F4?>7G 0043233). 
�>4D>5=55 E<. <=EFDG>F<< ?> <E?>?L7>64=<N <  
GEF4=>6>5  GEFD>=EF64 DSA. 

 

354 SKLA  81 J

400V 3N~

Kiuas                Teho         Ryhmäteho               Lämpövastukset
Ugn                 Effekt        Gruppeffekt               Värmeelement             230V
Heater                Input         Group of power              Heating elements 
Ofen                Leistung   Gruppe der leistung       Heizelemente
Keris                  Vöimsus   Rühmavöimsus              Tennid,  Elementy grzewcze
Chauffe-sauna  Puissance Groupe der puissance   Éléments chauffants
Calentador        Entrada     Grupo de potencia         Resistencias, 
Piec do sauny   Moc           Grupowe zasilanie

                                         
                                                                                   SEPC 12        SEPC 11         SEPC 10
                              kW              kW           kW               1,5kW              2,0kW             2,5kW 

1101-181           18,0          9,0            9,0            1,     12 
1101-210           21,0          9,0           12,0       1,3,5,7,9,11   2,4,6,8,10,12
1101-260         26,0           13,0          13,0                           3,4,5,6,7,8,9,10  1,2,11,12

1       2       3       4       5       6        7       8       9      10     11     12

Epäsymmetrinen kuorma
Osymmetrisk last                          L1 -4,5kW    L1 -4,5kW
Unbalanced load                           L2 -4,0kW    L2 -4,5kW
Unsymmetrische Belastung          L3 -4,5kW    L3 -4,0kW
Ebasümmeetriline koormus

Charge non équilibrée
Carga desequilibrada

1  2  3  4  5  6
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Asymetryczne obci�}enie 
�E<<<5FD<G=4O =47DG7>4 
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